
@X2 

ASSEMBLY INSTRUCTION 

STEP 1 

� 

AX6 
M6x30 

Assembly Tips: 
You must not tighten any screw 
yet in this step 

A 

CD 

0 

Use 8 short #A 30MM screws, 
Do NOT use #B screws 

Assembly Tips: 

AX10 
M6x30 

� 

BX2 
M6x40 

� 

Cx1 

Dx4 

• 

STEP 2 

e,-

You must not tighten anyscrew yet in this step 

B X2 
M6x40 

NOTE: Use 2 #B 40MM screws 

NOTE: The two holes on the 
#3 horizontal bar are facing downward, 
close to the #1 top board 

ASSEMBLY INSTRUCTION 

STEP 3 

� 

AX2 
M6x30 

Dx4 

• 

STEP4 

� 
AX2 

M6x30 

Assembly Tips: 
You must not tighten any screw yet in this step 

NOTE: Use 2 #A 30MM screws 

Assembly Tips: When every part is OK, 
You can tighten all screws in this step. 

NOTE: Use 2 #A 30MM screws 




